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Model Questions

Directions (Q.No. 1 - 5): Study
the following information carefully
and answer the given Questions.

Subject Expert

A, B,C,D, E F G and H are
sitting around a circular table, facing
the centre. Each of them is in a
different profession, viz Doctor,
Engineer, Lawyer, Professor,
Architect, Accountant, Judge and
Painter. The Accountant sits third to
the left of A. The one who is an
Architect is an immediate neighbour
of A. E, who is Engineer, sits third to
the right of the Architect. G is neither
a Judge nor a Painter. B and F always
sit adjacent to each other. There is
only one person between A and E.
The Judge sits second to the left of C.
F sits second to the right of the
Painter. Neither B nor F 1s Architect.
A is neither a Lawyer nor a Painter
and sits opposite D. The Professor
and the Engineer sit opposite each
other. C is neither Professor nor an
Accountant. There is one person
seated between the Painter and the
Engineer.

1. Who among the following is a

Lawyer?

1A 2)D 3)C

4)G 5) Can't be determined
2. What is the position of H with

respect to the Accountant?

1) Third to the left

2) Third to the right

3) Fifth to the left

4) Fourth to the left
5) None of these

3. How many players sit between G
and the Painter when counted in
clockwise direction?

1) Four 2) Three
3) Two 4) One
5) None of these

4. What is the position of the Judge
with respect to the position of
Doctor?

1) Third to the left

2) Immediate left

3) Immediate right

4) Second to the right
5) None of these

S. In which of the following third
person sits between the first and
second person?

1) CDE 2) DBF
3) HEA 4) BDC
5) FAG

Directions (Q.No. 6-10): Study
the given information carefully to
answer the given questions.

Seven people - A, B, C, D, E, F
and G - are sitting in a straight line
with equal distance between each
other, but not necessarily in the same
order. Some of them are facing north
and some are facing south. Only two
people are sitting to the left of G
Only two people sit between G and
B. A sits second to the left of B. The
immediate neighbours of A face
opposite directions (ie. if one of the
neighbours faces south then the other
faces north and vice versa). Only one
person sits between A and C. F sits
third to the left of C. D is not an
immediate neighbour of B. Both the
immediate neighbours of C face the
same direction (i.e. if one neighbour
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faces south then the other neighbour
also faces south and if one neighbour
faces north than the other neighbour
also faces north). A faces the same
direction as C. E faces north. B sits
on the immediate left of E. G faces
north.

6. Who among the following sits
exactly between G and the one
who 1is sitting on the immediate
left of B?

I)A 2)C

3) Other than those given as
options

4)E S)F

7. Who among the following sits
exactly in the middle of the line?
1)D 2) A 3)F
4)E 5)C

8. Which of the following state-
ments is TRUE as per the given
information?

1) D faces south

2) G sits third to the left of B

3) None of the given options are
true

4) D sits exactly between C and
A

5) F sits in the immediate right of
A

9. Which of the following pairs
represents the people sitting at

| (Q. 11 - 15):
~
( SOLUTIONS ™ _Month City
(Q.1-35): January Bangalore
Painter February | . Hyderabad
D ] _March Mumbai
Acco‘;ntant avéyer April Chennai
May Delhi
B Engineer _June Bhopal
F E July Nagpur
Architect
G o ucee 11.1; 12.5; 13.5;
o 14.3;  15.5;
1.3; 2.4 (0. 16 - 20):
3. 3; B and F, when counted clockwise. , .
4.3; 5.5;Gis between F and A Person | Floor City
S |7 Chennai
6 -10): Q | 6 Patna
© ) \Y% | 5 Lucknow
P 4 Mumbai
T l T 1 l T T U | 3 Kolkata
- c G A : : : T | 2 Bengaluru
R | 1 . Delhi
6.1; 7.2 16. 4; 17. 13 18. 2;
8.2 9.5; 10. 1; ' 19. 5; 20. 2
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the two extreme ends of the line?

1) BC
2) Other than those given as
options
3) EF 4)DB 5)DE
10. Which of the following pairs
represents the immediate
neighbours of B?
1) EF 2) BA  3)AC
4) EG 5) GF

Directions (Q.No.11 - 15): Study
the given information carefully and
answer the given questions.

A Multi National Company has
conducted Workshops in seven
different cities of India - Chennai,
Bangalore, Nagpur, Mumbai, Delhi,
Bhopal and Hyderabad - not necess-
arily in the same order during the
first seven months of the year (star-
ting in January and ending in July).
Each Workshop was held only in one
city during a month. There are exa-
ctly four workshops held between the
Hyderabad workshop and the Nagpur
workshop. The Hyderabad workshop
was not held in June. Only one work-
shop was held between the Hyder-
abad workshop and the Chennai
workshop. The Mumbai workshop
was held immediately after the
Hyderabad workshop. The Delhi
workshop was held immediately be-
fore the Bhopal workshop. The Bho-
pal workshop was not held in May.
11. How many workshops were held

between the Mumbai workshop

and the Delhi workshop?
1) One 2) Two
3) Three 4) None

5) More than three

Which of the following state-

ments is true according to the

given sequence?

1) Mumbai workshop was held
in July

2) Delhi workshop was held in
April

3) Nagpur workshop was held
before May

4) Hyderabad workshop was
held in January

5) None is true

Four of the following five are

alike in a certain way based on

the given sequence and hence

form a group. Which does not

belong to the group?

1) January - Hyderabad

2) March - Chennai

3) June - Nagpur

4) May - Bhopal

5) February - Chennai

During March, the workshop was

held in which of the following

cities?

1) Chennai 2) Hyderabad

3) Mumbai 4) Chennai

5) None of these

The workshop in Bangalore was

held in which of the following

months?

12.

13.

14.

15.

1) July 2) May
3) February  4) March
5) January

Directions (Q.No.16-20): Study
the information and answer the
given questions:

Seven people P, Q, R, S, T, U and
V live on separate floors of a 7-floor
building. Ground floor is numbered
1, first floor 1s numbered 2 and so on
until the topmost floor is numbered
7. Each one of these is travelling to a
different city, viz Delhi, Mumbai,
Patna, Chennai. Kolkata, Bengaluru
and Lucknow but not necessarily in
the same order. P lives on fourth
floor. Only one person lives between
P and the one travelling to
Bengaluru. The person travelling to
Bengaluru lives below fourth floor. U
lives immediately below the one
travelling to Mumbai. The one
travelling to Mumbai lives on an
even-numbered floor but not on sixth
floor. Only three people live between
the ones travelling to Bengaluru and
Patna. T lives immediately above R.
T is on even numbered floor. T is not
travelling to Patna. Only two people
live between Q and the one travelling
to Kolkata. The one travelling to
Kolkata lives below the floor on
which Q lives. Q lives on even
numbered floor. The one travelling to
Delhi lives immediately below the
one who is travelling to Bengaluru. S
does not live immediately above or
immediately below P. V does not
travel to Chennai.

16. How many floors are there
between the one who is travelling
to Chennai and the one who is
travelling to Delhi?

1) None 2)Two 3) One
4) More than three
5) Three

17. Which of the following is true
with respect to V as per the given
information?

1) The one who lives imme-
diately below V is travelling
to Mumbai

2) V lives on floor no. 7

3) V lives immediately below T

4) V lives on the lowermost floor

5) V is travelling to Bengaluru

Who among the following lives

on floor no. 3?

1) The one travelling to Chennai

2) The one travelling to Kolkata

18.

3)R 4)V 5T
19. Who lives on the floor imme-
diately above T?
P 2)Q 3)S
4)V 5)U

20. How many people live between
the floors on which S and the one
travelling to Mumbai live?

1) None 2)Two 3) One

4) More than three

5) Three



